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B 40 39 79/ 8.4 |70.6 51/ 55 49 42 91/ 14.4 | 76.6
2 A 38 35 73] 1.2 |71.8 52|y =1 47 50 97| 20.4 | 76.6
RES 38 40 78/ 6.0 |72.0 53| TR 45 45 90| 13.2 | 76.8
4T B 41 43 84/12.0 | 72.0 4| FHA JE— 47 43 90| 13.2 | 76.8
5/ 8F B 41 42 83| 10.8 | 72.2 55 |\ ZHlRF =AM 45 44 89/ 12.0 |77.0
6/H FH & 42 41 83| 10.8 | 72.2 56 |1EiE = 46 49 95/18.0 | 77.0
TIREIE R 41 46 87/ 14.4 | 72.6 57| A% 2L 47 48 95/ 18.0 | 77.0
8| HH Jaf 41 40 81| 8.4 |72.6 58|'Er )1l BH 46 49 95/18.0 | 77.0
IS 45 41 86| 13.2 | 72.8 59| = H JE— 44 44 88/10.8 | 77.2
10| 9R BE 46 40 86| 13.2 | 72.8 60| HFF —i& 47 45 92| 14.4 |77.6
11/ Jik— 43 42 85/ 12.0 |73.0 61|HpT EE 39 47 86| 8.4 |77.6
12|#75 & 43 41 84|10.8 | 73.2 62 K811 = 45 53 98/20.4 |77.6
13K FoHl 43 41 84|10.8 | 73.2 63 | FKEE Fk— 45 52 97/19.2 | 77.8
14 |35 #1E 46 44 90| 16.8 | 73.2 64| 7Tk Bh 49 41 90/ 12.0 | 78.0
15 HF =8 39 38 77 3.6 |73.4 65| B Hi 54 54/ 108/ 30.0 | 78.0
16| $nA AR 45 44 89| 15.6 | 73.4 66 | HEEA JIE T 55 53| 108/30.0 |78.0
17 F5AK 40 42 82| 8.4 |73.6 A= 43 46 89/10.8 |78.2
18| FAA HE S 46 48 94/20.4 | 73.6 68| faA ) 45 50 95| 16.8 | 78.2
19 &R 55— 44 44 88| 14.4 |73.6 69| H L 7= 52 48] 100/21.6 |78.4
AL 45 48 93] 19.2 | 73.8 70 |Hif H HERE 55 49| 104]25.2 |78.8
21 K& & 41 38 79 4.8 | 74.2 713N RE 46 51 97/ 18.0 | 79.0
22| A% oK 43 42 85(10.8 | 74.2 2| K% EiE 45 45 90| 10.8 | 79.2
23 | BizHE Al 38 40 78] 3.6 | 74.4 T3 ER 51 44 95| 15.6 |79.4
24 7Kl B 43 41 84| 9.6 | 74.4 T4|/85K ®1 48 51 99/ 19.2 |79.8
259l IE 46 42 88/13.2 | 74.8 75|kl B 47 46 93/ 13.2 179.8
26| EBF JRAT 47 41 88/13.2 | 74.8 6| KR EF0 44 49 93] 13.2 |79.8
27\ &+ T 43 45 88| 13.2 | 74.8 G B 49 49 98/ 18.0 |80.0
28| FjL —E T 51 43 94/19.2 | 74.8 781 4)1 1 49 42 91/ 10.8 | 80.2
29/ NEE B 47 47 94/ 19.2 | 74.8 790 B 49 48 97| 16.8 |80.2
30|85 BER 48 46 94/ 19.2 |74.8 80 | mTiE TR 53 48] 101]20.4 |80.6
31/KIL &2 40 41 81| 6.0 |75.0 81 [fikf= THA 53 54| 107|26.4 |80.6
R2EHA AT 42 45 87/12.0 | 75.0 82|tk =Mk 47 47 94| 13.2 | 80.8
33 /IR i — 42 45 87/12.0 | 75.0 83| H A KA 45 50 95/ 13.2 | 81.8
34 |B8 fathst 39 42 81| 6.0 |75.0 84|# F o 51 56/ 107|25.2 |81.8
35| BUK 49 50 99/ 24.0 | 75.0 85| Tk Fl# 53 53| 106]22.8 |83.2
36|41 FE 41 45 86/10.8 | 75.2 86| ILUA HEHE 63 49| 112]28.8 |83.2
3T FE 51 47 98]22.8 | 75.2 87|fEH HI% 49 60| 109]25.2 |83.8
38| FFH Fi— 45 40 85| 9.6 | 75.4 88| FEE 58 51| 109/ 24.0 |85.0
39 5/ HJII Zh 44 47 91| 15.6 | 75.4 89 | H £ 52 57| 109/ 24.0 |85.0
40| FEM F 46 45 91| 15.6 | 75.4 90 |FkK 11 225 47 53| 100] 14.4 | 85.6
41| KK ESC 45 45 90| 14.4 | 75.6 91|81 Ef+ 64 60| 124/30.0 [94.0
42 Ve BB 50 46 96/20.4 | 75.6
43780 =4 45 50 95/ 19.2 | 75.8
44| FE R 44 43 87/ 10.8 |76.2
45 % #Ad 49 44 93| 16.8 | 76.2
46 | PEAT JEEH 46 40 86| 9.6 |76.4
47| THAR 1Ef 46 46 92| 15.6 | 76.4
48 |9 H 1E54 44 48 92/ 15.6 | 76.4
49|11+ =A% 46 46 92/ 15.6 | 76.4
50| 7k "= 46 45 91/ 14.4 |76.6
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